Biology 12 - Biological Molecules - Lipids

Matching

1) 
a fatty acid whose carbons are all joined to the maximum number of hydrogens

A) 
phospholipid

2) 
a fatty acid that has a "kink" in it due to a double bond between carbon atoms

B) 
cholesterol

3) 
three carbon molecule that joins with fatty acids to produce triglycerides

C) 
saturated

4) 
water-"loving"

D) 
unsaturated

5) 
water-"fearing"

E) 
glycerol

6) 
an  important component of cell membranes, has a hydrophilic head, hydrophobic tail

F) 
triglyceride

7) 
an important component of cell membranes and on which steroid hormone structure is based

G) 
hydrophobic

8) 
a molecule composed of glycerol joined to 3 fatty acids

H) 
hydrophilic

Short Answer

1. Lipids are organic compounds that cannot  _______________ in water.  In the body, they serve as _______________-term energy storage molecules.  

2.
The 3 most important classes of lipids are ________________, _______________, and _______________.

3.
Oil, fat, butter are ______________ at room temperature.  They are composed of lipid molecules called _______________ that have no _______________ bonds between carbon atoms.

4.
Unsaturated fatty acids are most often found in vegetable oils, and account for the fact that they are _____________ at room temperature. They have at least one ___________ ____________ between carbon atoms.

5. Soap allows dirt to be  _____________ _______________ because soap molecules stick their 

    ___________ __________ into the dirt which leaves an outer layer of ____________ ____________

6.
_______________ are ipids containing rings that are all derived from cholesterol.  An important function of these compounds are to be sex _______________ like estrogen.

7.
What type of molecule is the molecule drawn below? _______________
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The molecule has 2 groups a ___________ _____________ and a _______________ _____________.


The molecule is a component of _____________ ______________.

8.   To what class of molecules does the molecule below belong?  _______________
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       Why are these molecules grouped with lipids?__________________________________________

